
Worksheet  Maths 3rd ESO 
 

POLYNOMIALS 1 

 

1.- Work out: 

 

a) x(x-3)2 +2x(x-2)(x+2) = 

b) 3(2x-3)2 –2(2x+1)(2x-1) = 

c) (2x+3)(x-1) –2x2- x + 3 = 

d) 2(x-2)(x+3) + 3x2 –2 = 

e) 2(x-3)(x+1) –2(x-2)2 = 

f) (x-y)(x+y) –3(x-y)2 = 

 

2. Complete: 

a) x2 +       +16 = (x + 4)2 

 

b) x2 –25 =(x - 5)(x +    ) 

 

c) 16 x2 -       + 9 = (       -      )2 

 

d) .... x2 +      +      = ( 5x     2)2 

 

e) x2 – 20 x +      = (.......  ...  .......)..... 

 

 

3. Work out: 

 

a) ( ) ( ) =−+−−+− 622533 323 xxxxx  

 

b) ( ) ( ) =−−−−+− 132143 323 xxxxx  

 

c) ( )( ) =−−+− 15213 232 xxxx  
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d) SOLUTION 

 

1. Work out: 

a) x(x-3)2 +2x(x-2)(x+2) = x(x2-6x+9)+2x(x2-4) = x3-6x2+9x+2x3-8x =  

= 3x3-6x2+x 

b) 3(2x-3)2 –2(2x+1)(2x-1) = 3(4x2-12x+9)-2(4x2-1) =12x2-36x+27-8x2+2 = 

= 4x2-36x +29 

c) (2x+3)(x-1) –2x2- x + 3 = 2x2+3x-2x-3 –2x2- x + 3= 0 

d) 2(x-2)(x+3) + 3x2 –2 =2(x2+3x-2x-6)+3x2-2 = 2x2+6x-4x-12+3x2-2 =  

= 5x2+2x-14 

e) 2(x-3)(x+1) –2(x-2)2 =2(x2-3x+x-3)-2(x2-4x+4) = 2x2-6x+2x-6-2x2+8x- 

- 8 = 4x-14 

f) (x-y)(x+y) –3(x-y)2 = x2-y2-3(x2-2xy+y2) = x2-y2-3x2+6xy-3y2 =  

= -2x2-4y2+6x 

 

2. Complete: 

a) x2 +   8x   +16 = (x + 4)2 

 

b) x2 –25 =(x - 5)(x + 5) 

 

c) 16 x2 -  24x   + 9 = ( 4x  -  3 )2 

 

d)  x2 + 20x  +  4  = ( 5x  +  2)2 

 

e) x2 – 20 x +  100    = ( x – 10 )2 

 

3. Work out: 

 

a) 
( ) ( )

39

124215393622533
23

323323

−−−=

=+−−−+−=−+−−+−

xxx

xxxxxxxxxx

 

b) 
( ) ( )

xxx

xxxxxxxxxx

73

132143132143
23

323323

+−−=

=++−−+−=−−−−+−
 

 

c) 
( )( )

1551663

1523156315213
2345

232345232

++−−+=

=++−−−−+=−−+−

xxxxx

xxxxxxxxxxx
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